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Fhe value of JI:E —sinx)dy is
a
Ay =0 B2 &4 ¥} Undefined

=

Differential equation, $+ 10-':—? + 28x = fhwill have a solution of the form
' )

Ay e BHC = Caty e
Y et e e ™+ e
where {; and €; are constants.

Distanee of the centrodd of a semi-cirele of radius » from its basc 1s
Al 4riim B 3rag Cydniie I3 3 widr

For the lwe shafls connected in parallel. find which statement 15 frue?
A} Torque in each shafl is the same

B) Shear siress in cach shail 15 the same

C) Angle ol Dwist in each shaft 15 the same

I Torsional stiffness of each shaft is the same

Mohr's stress circle for simple torsion test will be

%\_ % oL} w l@g

A steel rod 2.0 m long is heated through a temperature of 100® C. The coefficicnt of
linear expansion is 6.5+ 107 C and E = 200 GPa. The stress induced in the bar will be
A} 110 MPa B1120 MPa C} 130 MPa 1 140 MPa

Consider the following statements:
Coriolis comnponent of acceleration depends on

. Velociny of slider
2. Angular velocity of the link
3. Acccicration of slider

™

1, Angalar aceeleration of the link

CH these statement

AY 1 and 2 are correct 133 1 and 3 are correct
) 2 ard 4 wre carrect 10} 1 and 4 are correct
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A fixed goar having 100 teeth meshes with another pear having 235 teeth, The center line
of hoth the gear being joined by anarms a0 a5 to form an epicyclic gear train, The pumber

of rotalions mads by the smaller gear for one rotation of the wrm s

Al 3 114 4 6
The equation = dﬁ RO g + Kx =0 reprosents
e it
A% Free vibration B) Forced wihration
0 Free and [oreed vibration T¥ Free and dampinyg vibration

When wim. = V2, then transmissihility will be
A =] =1 1=l 2 Mone of these

In a single degree of frocdom vibration system, the undamped atural frequency is
the damped natural froquency.
A) Tats B Equal 7 Grrealer [} Uncertain

The fatigne lile of a part can he improved by

A) Flectraplating B Molishing N Coating L0 Shet peening

Butiress theead is nsed where power is 1 be tansmitied in
A} One direction only B Do directions
O Anry one of the above ¥} Mone of those

The sliver boarings are used almpst exclusivety in alrerall eogines e Lo their excelient
A Wear resistance T TFatigne resislancs
7y Cotrosive mesistance 2 Boome ¢ thess

The efficiency of self-locking scrow 15
A) = 30 Y By - 50 % £ = 500 % ¥ Nong nf these

fdatch Tisi-l with the List-IT und seleet the comeet answer from the godes given below the

1i5ts;

Ligr-1 Tist-1l
) Strain roselte 1, Critical speed
b Seciion modulus 2. Melua's cirele
c) Whal's stress faclor 1. Coil springs
o) Hangue 4, Flexural rigidity
5, Endurance Temit
Coodes:
a L & d
A | s 3 5
=1 i Z J K]
[ Z 4 A a
[ 3 4 3 2
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Power is transmitted through a considerable distance by means of waler undar pressure,
the maximum power iy iransmitted when the frictional loss of head is

A7 173 of the total bead supplied B 1/2 of the total head supplied

3 1410 of the rotal head supplied [2) 144 ol the wotal head supplied

In steady state Now of a fluid, the acceleration of any tluid particle

A} Fero 1) Comstant C') Vanahble [)) Wever #oro
2 aI]
Fur an irrotational flow, the equation d—f +% = {11z known as
dx”  dx
A Bermoulli®s equations By Cauchy Riemann’s cquation
) Tapiace equation [ Euler's equation

Centre of pressurs of an iaclined plane 1s
A) Al the centrond B} Above the centrand
) Befow the centroid D} At the meta centre

A 10 kg solid at 100° € with a specific heat of 0.8 kike-"C is immersed in 40 kg of 207 K
liquid with a specific heat of 4.0 k[kp-"C. The temperature after 2 long time, il the
container i manlated will be

A) WEC R 28° C ) 26° € 1) 24° C

The ratio of surfece convection resistanee 0 internal conduction resistance is Known 88
AN Grashodf nummber B Biot number
() Stanton number 129 "randt]! number

in M. L. T and 8 system, (he dimension of energy conversion factor 15
Ay T Byg* CAMLTE D} Mone of these

Automebile radiator 13 a heat exchanper of
Ay Counter flow type B Parallel flow mype
'] Regenerator type I3 Cross flow B

Internal energy of & perfeel gus depends upon
A) Temperature and pressure B} Temperatrc
Yy Temperature, pressura and specific heals ) Mong of these

Kelvin-Plank’s law deals with

A onversion of work nto heat B Conversion of heat intoe work
{1 Conversion of work I Conversion of heat

{33
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A reversible process

A} Miust pass throuph a continuous scrics of equilibrium states

B Leaves no history of the events in surrounding

€3 Must pass throuph the same state on reversed path as on the forward path
1 Aldl the above

A heal engine is supplied with 250 k1% of heat at a constant fixed temperature of 2277
The heat is rejected at 277 C. The evele is reversible, if the amount of heat rejected s
A)-273 klfs By 200 kl's ) 180 ks ) 150 kls

Flamidity ratio is alzso known as
A) Relative humidity By Absolute lnwmidily
L} Specific humidity D} Percentage humidily

The specific speed of a wwdraulic turbine 15 @ven by

e PAN NP J NP
:

i Hi HA g4

A Prancis turbine wunder a bead of 23 m produces 2000 kW at 250 pm. The power
produced under a head of 1 meter will be
Ay 2 kW Bj 10 kW C) 16 kW ) 25 kW

Faw material For all iron and steel produoct 1s
Ay Cast iron B Wreught iron 23 Pig iron [} Steel

18-4-1 High Spead Sleel conlaing maximuom percentape of =
Al Vanudium 13 Chramium ) Tungsten 13} lron

Which of the following is used for imitation jewelry?
Al Duralumin B Aluminum and bronze
) Gun mieial Dy Silicon bromze

The area enclosed by a hysteresis loop 15 0 messure of
A) Hetentivity 1) Susceplibility
€7) Permealicy D} Energy loss per cycle

The addition of coal dust to the green monlding sand is to improve

A) Permeability B} Surfacs Hinish
) Mouldabality D) Green strength

(4l
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ley crder 1o TaciliGsde withdrawal of patterm
Al Pattern s made smooth

B} Water is apgdied on the paltern surface
L) Allowances are made on patlemn

B Draft is provided on patiern

Blanking and piercing operations can be performed simultaneousty in
A) Simple B} Progressive die
) Compound dic i Combination die

The welding process in which fwo pieces 10 be joined are averlapped and placed berween
rwo electrodes, is called

Ay Spot welding 13) Projecion welding

£ Beam welding V) Bt welding

Ien Vhermat welding, alumimuom and tron oxiide are mixed in the proportion of
A) 1 Bj1:3 7] 3:1 ) 1:2

Crray easl ron s generally welded by
A Gas welding H) Arc welding
C) TG welding I3 MG weldimg

When matertal is ductile and cutting speed i3 low, tien chips formed are
AY Continuous B) IMacontinuous
) Continnous with built up edge 13} Mone of these

For copper. the rake angle provided is
A} Positive B Lero (2 Mepative 17 hootg of these

Tonl hife 158 mostly affected by
Al Cutting spocd Bi Tool pocometry
) Feed and depth 17} Micro-structure of matenial being cul

A device, which holds, locate work-piece, pude and control one or more cutling tools 1S
Cetl b
A} iz B Fixoure ) Template [3) Tathe

(v triple starnt screw thread

A Lead = pitch B} Lead = 3= pitch
L) Lead =1/3* pitch 10} Lead =9 = pitch

(s)



47, A shaft (diameter 2005 ) and & hiote (dizmeter 207 oy when assembled

will give
A) Transition fit B Clearance 1it
) ligerference it [y Mone of these

48, The demand for the last vear's four months is 3, 4, 6 and 5 Tones ol ingots. What is the
gencral equation of demand?
A 2.5 +0.8t Iy 2000 0 CyA5+04 Ly 3.0+ {1LB1

49, Mean tate of consunption during lead tme (R} multiplied by mean lead time (L) is equal o

Al Butter stock 1) Reserve stock ) Salely slock ¥ Naome of these
S0, 'The differenec hetween tme available to do the job and the dme required L do the job i
called
A) Event B Duration 1 Float ¥y Constrained
X5

(s)



